72°¥n "7 '01N X,10 0°noo .7"'02

— RN RO N7 R2IDT X7 ﬁ]”y?ﬁ
There is no 79°v», but there is a prohibition

OVERVIEW

827 brought a proof to his ruling that 3°»p1 MWK R? is MOX from the statement of
19 12 PYNY " that by 1o XM 9P there is no (n"7n) A2°vn, inferring however that
there is an (332771) MoK (and presumably) even for those who are TwaX X (those
0°192 O*7MWN). NBOIN questions this inference that there is an 7O°X.

MooIN asks:
= NANIYA N2 HY IND DI0N N2 AYN RN (0w x, naw) DO9NN PI937 NN

It is astounding! For in %v%1177 P22 the 8n>"12 taught, a woman was able to select

wheat by the light of 728w na -
- 'onn )n1a YNP YV PN NNN PYM

However the oil and the wick belonged to w7 as the 7w teaches there, we see
that there is not even an 710X by 7% (not as X217 inferred)!

mooIN rejects a possible answer:
11959 DIV 113 PR N IR NPT N9 3T SNWIra)
But in "%%21° 71%n he infers from this 8n°>72 that 2w 272 PR 79 IR 2199

79907 for otherwise how was the woman permitted to be °vr n9™M2. MooIN does not answer this
question.’

SUMMARY

How can we reconcile that there is an M0°X by 1X7n, with the Xn»72 that the
women were 1712 the 2°vr by the light of the maxwn n°a (which was made from
VTPR).

" The 1wn in X,X3 71910 states; 197272 17 7721 PYPOR 17 7 130 0°3A2 0197 *Koan; indicating that the wicks were
from wTIp. [See the Xn>>12 in X,71 w17 which states, 072 PYyIn 22w 7375 Nand.] It is not clear how MO assumes
that the 12w was wTp.
? One could perhaps say that when the Xn»12 stated 2°on N2 7w, it did not mean that she was actually 2 (for
that is 710K), but rather that it was so light that she could have been n7712. This would answer the question.
337 3" oo (in our *n?Y7 on 2,3D).
* This proves that the women were actually being 1112 for otherwise (if it is merely telling us how light it was [see
footnote # 2], how is there proof that 77°y» owwn 073 PR.
> Moo in nnw "7 X, naw and in WX 7"7 X,21 7010 offers the answer mentioned in footnote 2. See n'"7x for a
possible answer.
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THINKING IT OVER
Can we distinguish between deriving 7X17 from viewing the p"77 (which 1s 70R),
since the w7pn exists in its whole state, and between deriving benefit from the light

of a fire (which is 79nn), since the w7pn is being destroyed and the benefit is from a
byproduct of w7pi1 which ceases to exist?!
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